HAH :2024.9.4 16:22

2024 TN—=9H4H (K)

BRMEAE A B :20244F09 H 04 H (OK)
BRI SRR T K= B ELA—n: T2 3 4 5 7 8
Z2aF7Hy kRl IN12 13 14 15 17 18
ER=—=  :0UT IN
RN T BEPE40. 0 & 1E40. 0
BN E FHE T4 Zux AEAA
2PN 4 BHE8S AN 1IN AE99A
NIRRT SN K4 158>~ OUT | IN |GROSS| HDCP| NET |crosswit: i3
B ekt i 4, 000 46 46/ 92[20.4 [71.6 | 43
YR I | L lyﬁf& 3, 000 36 39 750 2.4 [72.6 2 | BFHEBGE®
NS 2, 000 44 43 87[14.4 [72.6 | 19
EEN E% 1, 000 39 35| 74| 3.6 |70.4 1 INP OUT 8
5 |BH F— 1, 000 40 41 811 9.6 [71.4 | 3
6 e B 800 492 39 81| 8.4 72.6 | 3
7 B B 800 41 49/ 90[16.8 [73.2 | 33
8 & E{* 1, 000 45 44]  89/15.6 [73.4 | 28 [ERPIMERE/ZPEBCE Q)
9 ot H 800 47 48/  95[21.6 [73.4 | 55
10 [EA g:hFﬁ 1, 000 47 41  88[14.4 [73.6 | 24
11 [BEA B 42 46 88/14.4 173.6 | 24 INP IN 10
12 MM == 40 41 81 7.2 [73.8 3
13 W T 43 441 87[13.2 173.8 | 19
14 & Al 47 45/ 92118.0 [74.0 | 43
15 T H Uz 500 40 45/ 85/10.8 [74.2 | 10
16 | T3 5FR 38 53]  91/16.8 [74.2 | 40
TN 48 54/ 102[27.6 [74.4 | 85
18 | [EB BEFA 53 48] 101126.4 [74.6 | 81
19 WA ws 42 39/ 81/ 6.0 [75.0 3 INP OUT 14
20 A —3 500 43 44| 87[12.0 [75.0 | 19
21 | AH B 42 44! 86/10.8 [75.2 | 13
22 [/ B 45 47 92[16.8 [75.2 | 43 [INP OUT 10
23 A 72 48 49 97]21.6 |75.4 | 64
24 A& fEE 1, 500 49 54| 103/27.6 |75.4 | 86 |BHEELaE
25 |EE T 500 56 53] 109133.6 |75.4 | 91
26 | filiJE fil] 45 45]  90[14.4 [75.6 | 33
27 Akt mr— 44 46/  90/14.4 [75.6 | 33
28 |3Tik HEAE 47 49 96/20.4 175.6 | 57
29 LRy sER 46 50/  96/20.4 |75.6 | 57
30 il FoE 500 42 47 89/13.2 |75.8 | 28
31 B ESE 42 47/ 89[13.2 [75.8 | 28
32 E/K FHH 40 42 82| 6.0 |76.0 | 8
33 |HMR K& 44 44 88[12.0 176.0 | 24
34 |HLFH FERE 45 49/  94]18.0 [76.0 | 51
35 |HH HE 300 50 50/ 100124.0 176.0 | 78
36 AR {RAH 39 42| 81| 4.8 |76.2 | 3 INP OUT 3
37 | JE T 44 43 87/10.8 [76.2 | 19
38 | EE FRAE 49 50/  99122.8 176.2 | 71
39 |BIA BB 49 50 99/22.8 176.2 | 71
40 & 85X 300 41 45| 86 9.6 [76.4 | 13
41 [FFIR kiR 44 421 86 9.6 176.4 | 13
42 B SCE 41 45| 86 9.6 [76.4 | 13
43 |HkE g 43 43 86 9.6 [76.4 | 13 INP IN 3
44 | FE FEE 46 46!  92]15.6 [76.4 | 43
45 |98 A 300 52 52| 104]27.6 [76.4 | 88
46 M B 54 50/ 104/27.6 |76.4 | 88
47 [ JER %3% 41 44] 85| 8.4 176.6 | 10
48 /il =4 43 47 90[13.2 [76.8 | 33
49 |1liE 8 46 44! 90[13.2 [76.8 | 33
50 iRk %iﬁ 1, 500 43 47 90[13.2 [76.8 | 33
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51 |Hhi SR 41 491 90[13.2 176.8 | 33
52 [T &% 51 45/ 96/19.2 [76.8 | 57
53 [ HH & 47 42 89/12.0 [77.0 | 28
54 |HZA 41 47 88[10.8 [77.2 | 24
55 [ FE— 300 43 50/  93[15.6 [77.4 | 48
56 |AH JLhE 51 48 99/21.6 [77.4 | 171
57 |=H] E] 40 46!  86] 8.4 [77.6 | 13
58 /WK ZEFKE 51 471 98[20.4 [77.6 | 67
59 &L o 47 50/  97/19.2 [77.8 | 64
60 R FEME 300 54 61| 115/37.2 177.8 | 97
61kl S 50 46!  96/18.0 178.0 | 57
62 | KH EFH 40 49/  89[10.8 [78.2 | 28
63 | dJIl WL 47 48/  95/16.8 [78.2 | 55
64 |FAME U] 50 51/ 101]22.8 [78.2 | 81
65 |ILIH 3 300 45 49/ 94/15.6 [78.4 | 51
66 |EA JiH] 47 47 94/15.6 178.4 | 51
67 | m AN fa 45 42] 87] 8.4 [78.6 [ 19
68 [HE it 45 48]  93]14.4 |78.6 | 48
69 |Tufr B— 44 491 93]14.4 178.6 | 48
70 =i =8 300 46 46!  92[13.2 178.8 | 43
71 Rtk B 49 49! 98]19.2 178.8 | 67
72 | K&HE CH 45 40! 85/ 6.0 179.0 | 10
73 R BT 44 471 91]12.0 179.0 | 40
74 MsH AT 48 49/ 97]18.0 [79.0 | 64
75 [l % 300 38 46! 84] 4.8 179.2 | 9
76 |{lF AR 48 48 96/16.8 179.2 | 57
77 |GHE SE— 50 46!  96/16.8 179.2 | 57
= 50 51 101/21.6 [79.4 | 81
79 TN BEHE 48 46!  94/14.4 179.6 | 51
80 |EF fi+ 300 49 51 100[20.4 [79.6 | 78
81 K = 48 51/  99/19.2 [79.8 | 71
82 |fnH Mz 46 53 99/19.2 179.8 | 71
83 & A tE 49 55| 104]24.0 [80.0 | 88
84 |HAT Kk 57 59| 116/36.0 [80.0 | 98
85 | RRIL SEFE 300 44 471 91]10.8 [80.2 | 40
86 | RALR Fa 57 52/ 109/28.8 180.2 | 91
87 Ak MEK 50 46!  96/15.6 /80.4 | 57
88 /MK IEFN 49 51 100[19.2 [80.8 | 78
89 | ZEHME PR L 56 56/ 112[31.2 [80.8 | 95
90 [ HA B 300 53 58] 111/30.0 [81.0 | 94
91 &% #B= 45 53]  98/16.8 181.2 | 67
92 [ =3 54 55| 109/27.6 [81.4 | 91
93 [ZnEr BJH 52 49! 101/19.2 [81.8 | 81
94 A& IR 60 53] 113[31.2 [81.8 | 96
95 BE H 300 45 53]  98[15.6 [82.4 | 67 INP IN 3-14
96 K Tn=g 47 52 99/15.6 183.4 | 71
97 |mEE JE— 48 51] 99/15.6 [83.4 | 71
98 |tH)= B— 800 49 54] 103/19.2 /83.8 | 86 |BBH
99 | A)Il 7k 86 441 130140.0 [90.0 | 99
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